9524NB

Parts Breakdown

V/rled,dbds

8/18/2010

Page 1 of 2



V/771i

Products with multiple versions are listed in subsiding order with the newest version on top not indented

T

@00\10')0')01-&@[\3—\)5
+

10

12
13
14
15
16
17
18
19
19
20
20
21
22
22
23
24
25
26
27
28
29
29
30
30
31
32
33
33
33
34
34
34
35
36
37
38
39
39
40
41
41
42
1,001
1,001
1,003
1,005
5,001

/ |

b A A &

Part ID
266041-8
415491-6
233072-2
256437-1
961002-0
226733-1
226799-1
211062-5
285684-7
241890-4
415954-2
517301-4
681638-6
211012-0
521621-0
266007-8
266034-5
415952-6
859963-5
415953-4
417352-6
153529-6
159866-6
682502-4
233153-2
233285-5
664013-1
415955-0
265995-6
654532-5
687063-9
265995-6
651403-7
651433-8
191938-1
195008-8
643928-5
819063-3
224509-0
224566-8
224568-4
224361-6
224368-2
224378-9
152538-2
165053-7
251391-4
316800-1
211107-9
211129-9
962151-6
226728-4
226798-3
159867-4
152490-4
153489-2
782412-6
741423-B
810236-1

Parts Breakdown

Part Name
TAPPING SCREW, FLANGE 5X25, 5177B
PIN CAP, 9523NB
COMPRESSION SPRING 8, 9523NB
PIN 4, 9523NB
RETAINING RING S-6, 6012HDW
SPIRAL BEVEL GEAR 11,9524NB,T1
SPIRAL BEVEL GEAR 11, 9524NB
B. BEARING 6000ZZ, N1900B
BEARING RETAINER 52, 9524NB
FAN 57, 9524NB
BAFFLE PLATE, 9524NB
ARMATURE, 9524NB
INSULATING WASHER, 9523NB
BALL BEARING 606ZZ, HR2410
FIELD ASS'Y 115V, 9524NB
TAPPING SCREW 3X10, 9557NB
TAPPING SCREW 4X16, 9524NB
SWITCH KNOB, 9527NB
NAME PLATE, 9524NB
SWITCH LEVER, 9527NB-T1
SWITCH LEVER, 9523NB-T2
MOTOR HOUSING, 9523NBH
MOTOR HOUSING, 9527NB
CORD GUARD 8-85, HP2010N
COMP. SPRING 4, 9527NB-T1
COMP. SPRING 4, 9527NB-T2
CORD (2X18X8 SJT), N9501B
REAR COVER, 9527NB
TAPPING SCREW 4X18, 4323K
TERMINAL BLOCK, 9523NB
STRAIN RELIEF, 4323K
TAPPING SCREW 4X18, 4323K
SWITCH, 9523NB
N/A
CARBON BRUSH 408 SET, 3901
CARBON BRUSH SET CB-408, KP0O800K
HOLDER CAP, 9523NB
MAKITA LABEL, DA3010F
LOCK NUT, 9005B
LOCK NUT 5/8-45, 9561CV
LOCK NUT 5/8-45, 9005B
INNER FLANGE 82, 9505BH
INNER FLANGE 45, 9561CV
INNER FLANGE 45, 9005B
SPINDLE COMPLETE, 9527PB,9528PB
4-1/2 WHEEL COVER,9524NB
P.H.SCREW M5X16,9523NB
BEARING BOX, 9523NB
BALL BEARING 620127, 1912B
BALL BEARING 6201DDW, N9501B
RETAINING RING R-32, 9005B
SPIRAL BEVEL GEAR 36,9524NB,T1
SPIRAL BEVEL GEAR 36,9524NB
GEAR HOUSING COMPLETE, 9524NB
GRIP 36, 9227C
GRIP 36, 9557NB
LOCK NUT WRENCH 28, GA7911
4 1/2GRINDING WHEEL,9524NB,BULK
N/A

Page 2 of 2

Quantity

RN \NPIE I U A U U U U G QU G QU (U QU (U QI (I (I (P U U G S G U U G G J G U |\, JE Gt Qi G (L (I (UK (U U U Y SO | Y U G QU QU QU QU QU QI QU L U U .

9524NB

8/18/2010



